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Q.1.

Q.2.

Q.3.

Q.4.

Q.5.

JSA-1

In the following question, select the missing number in the table from the options
given below.

13 169 961
15 ? 2601
12 144 441
(a) 81 (b) 361 (c) 289 (d) 225

Please select the right pair from the options given below which shows a relationship
as in the given pair of words.

Ecology: Environment
(a) Histogram: History (b) Biology: Fossiles
(c) Histology: Tissues (d) Genetics: Hormones
If FLATTER is coded as 7238859 and MOTHER is coded as 468159, then how is
MAMMOTH coded?
(a) 4344681 (b) 4344651 (c) 4146481 (d) 4346481
There are deer and peacocks in a zoo. By counting heads, they are 80. The number
of their legs is 200. How many peacocks are there?
(a) 30 (b) 50 (c) 60 (d) 20

If the number indicates the number of persons, then how many youth graduates are
there?

Graduates

Employed

(@) 20 (b) 30 (c) 40 (d) 50
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9.1.

9.2.

9.3.

U4.

U.5.

JSA-1

fafaRad uy o, e fau U fasedl O 9 arferet & qu 9 &1 99+ o |

13 169 961
15 ? 2601
12 144 441
(a) 81 (b) 361 (c) 289 (d) 225

ST A1 fau 7T et & @ It St T ot eal 1 <) 7S wiel S ey ferardt g
SHIASH: TTaRTHE

(a) foverm: fowt OERISSIRIES]

(c) fewerarst: fexg. (d) SfeaT: g

I FLATTER T 7238859 & =0 H pifsd fHar a1 § 3R MOTHER bl 468159 &
U # Sifsd fFar T 8, @ MAMMOTH &) &3 pifsd foar smem?

(a) 4344681 (b) 4344651 (c) 4146481 (d) 4346481
Tep FfSaTeR # fRr0 SR AR €| RRT &1 I 3 R ITeh1 A1 80 B 1 §7eb URI b
T 200 B 1 98T foba AR 872

(a) 30 (b) 50 (c) 60 (d) 20

e T Al B G B G 5, T Jal Add! Bt AT fbat 62
(Youth = gdI, Graduates = HIdd, employed = ﬁ\_rFTRﬁ)

(a) 20 (b) 30 (c) 40 (d) 50

Page 3 of 39 C



Q.6. Which diagram represents the relationship among females, mothers and doctors?

Q.7.

Q.8.

Q.9.

Q.10.

Q.11.

Q.12.

JSA-1

& (0@ | D

(@) (b) (c) (d)

Ram started walking from his house in the east direction to Bus stop which is 3 km
away. Then he set off in the bus straight towards his right to the school 4 km away.
What is the distance from his house to the school as the crow flies?

(@) 1 km (b) 5 km (c) 7 km (d) 12 km
Find the missing number from the given responses.

B

& &3
(a) 152 (b) 164 (c) 140 (d) 142

Which is the smallest Prime Number?

@ o0 (b) 1 (c) 2 (d) 3

Which of the following represents the numeral for 29497

(a) MMMIXL (b) MMXMIX (c) MMCMIL (d) MMCMXLIX

In a group of buffaloes and ducks, the number of legs is 24 more than twice the
number of heads. What is the number of buffaloes in the group?

(a)6 (b) 8 (c)10 (d)12

A man makes his upward journey at 15 km/h and downward journey at 25 km/h.
What is his average speed?

(a) 17.83 km/h (b) 18.75 km/h  (c) 19.25 km/h (d) 20 km/h
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9.6

7.

9.8.

9.9.

9.10.

911,

.12

JSA-1

DI I 3R Afgarell, Ararsil 3ik elaex) & T Heiy o) a2idr 87

& (0@ | D

(@) (b) (c) (d)

RTH 30 B ¥ U4 f=n § 99 % Td &1 SR I T ol g, ol 3 il gr 8| iR ag
T 7 YR §IHR 3101 a8 3R Y THd Bt SR Sa1 g, 5 4 fpi 81 I I 4
(O DI ISAT ) ITD W Y Wod DI g3l [l griT?

(@) 1 km (b) 5 km () 7 km (d) 12 km

fau 7t faeeat & q Audr e @ |

(a) 152 (b) 164 (c) 140 (d) 142

I BICT UG AT (Prime Number) I I %?

(a) 0 (b) 1 (€) 2 d) 3
fFufefad & T H9-T7 2949 & forw Ju+ 3is &1 ufafifIa ®ar g2
(@) MMMIXL (b) MMXMIX () MMCMIL (d) MMCMXLIX

U 3R Tl o U Tig |, W &1 T RRY &1 e & SRA ¥ 24 1&g | I8
H 45 31 T feat 37

(@) 6 (b) 8 (c) 10 (d) 12

Us G AU TS Bt AT 15 fHHl/Her Bt Tfd T a1 § 3R T SR 1 T
25 fpHl/Her oY Ifa A HRA1 31 ITB! 3Td T T B2

(a) 17.83 fpHl/Eier  (b) 18.75 T/ (0) 19.25 fopdl/gier  (d) 20 fopdl et
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Q.13.

Q.14.

Q.15.

Q.16.

Q.17.

A bag contains 20 balls out of which x are black. If 10 more black balls are put in
the bag, the probability of drawing a black ball becomes double of what it was
before. What is the value of x?

(@) 0 (b) 5 (c) 10 (d) 20

An employer pays Rs. 20 for each day a worker works, and forfeits Rs. 3 for each
day he is idle. At the end of 60 days, a worker gets Rs. 280. For how many days
did the worker remain idle?

(a) 28 (b) 40 (c) 52 (d) 60

What is the greatest odd number of 4-digits which is completely divisible by 177
(a) 9996 (b) 9979 (c) 9981 (d) 9991

If water is frozen to make ice, its volume is increased by 10%, then if the ice is
melted to water again, its volume will be decreased by:

(a) 8% (b) 95 % (€) 9 % (d) 9—

11

The top of a broken tree touches the ground at a distance of 15 m from its base. If
the tree is broken at a height of 8 m from the ground, then the actual height of the
tree is:

(@17 m (b) 20 m (c)25m (d)30m

Q.18. The value of

Q.19.

JSA-1

3;|—8—5)'{4 2)+ H is
-L( =4 ( 13 IJ
(a) (b) (€ (d)

How many different 5-digit numbers can be formed using the digits 1, 2, 3,4, 5
without repetition?

(a) 120 (b) 150 (c) 100 (d) 200
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9.13.

Y.14.

9.15.

9.16.

U.17.

9.18.

9.19.

JSA-1

TP I H 20 7§, o0 T xx el &1 afe & A 10 3R Frelt 1S ST & MY, A Hrht
g M B GHIEHT ISP U8 &1 THTTAT I SRIA 81 oiich &1 xx BT M &7 62

(@0 (b) 5 (c) 10 (d) 20

TH AT U TSGR Dl ITb HIH B aldl TS fod & ol 220 <aT 8, 3R Td®
f& & forT 23 FIc a1 § o9 98 B el dHRdll 60 farl & sid §, Holgr &I 2280
firerd €| goigR foha Tl d% 9@ @12

(a) 28 (b) 40 (c) 52 (d) 60

17 9 I ke TauTs 4-3i] ! Iad 98! fawn S= H-31 82

(a) 9996 (b) 9979 (c) 9981 (d) 9991

gfe o 1 5711 AR 9% & Fga S d ITHBT I 10% ¢ Srdl ¢ | e s 9% &)
iR I Ut o Sqar STE, A1 ST 31 fobd= Ufa=id O SIa?

(a) 8% (b)91/2 % (c) 9% (d)91/11%

TH ¢ gU US I AId] IqP YR ¥ 15 Hiex P gl TR THH &1 Jail gl Il TS 8
Hex Bt dls W gel g, ) US DI aRdfdd $dTs (! &7

(a) 17 HIex (b) 20 HeX (c) 25 Hiex (d) 30 Hiex
fFufafad sifveafea sram § -

I (. 8|1
3+{(8_5)+{(4_2)+L2+EJ}J

15

(@) (b)

17

13
17

AT GRIGRI & 906 1, 2, 3, 4, 5 BT STINT XD febe=t SFCHT-FEHT 5-3ichT BT TReATY

SIS o bl o7

15 13
© (d) P

(a) 120 (b) 150 (c) 100 (d) 200
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Q.20. The average age of 8 members of a group is 36 years. The age of the eldest

member is 32 years. If we exclude the eldest member from the group, then what
will be the average age (in years) of the remaining members?

(a) 38.5 (b) 42.67 (c) 48.5 (d) 36.57

Directions: (Q. 21 to 24) — Study the Pie chart carefully and answer the questions.

Q.21

Q.22.

Q.23.

Q.24.

JSA-1

Students of a college

Non Members
40

Members of football
club only

Members of cricket
club only 5%

Members of both clubs
75%

Percentage of students who are not members of any club is :

(@) 5% (b) 8% (c) 10% (d) 6%

Number of students who are members of cricket club only

(a) 35 (b) 40 (c) 42 (d) 41

Ratio of members of cricket club only and football club only respectively is

(@1:3 (b)2: 1 €)1:2 (d)3:1

The number of students who are members of both the clubs is

(a) 500 (b) 650 (c) 550 (d) 600
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¥.20. Tl THg & 8 Uawl &1 3id 31 36 I8 ¢| Ty ds & P 3 32 ¥ g1 Afg
Yo IS T &) g A gl four oy, Y 99 ! &1 3ird oy @t #) @ gl

(a) 38.5 (b) 42.67 (c) 48.5 (d) 36.57

frd=m: (U9 21 1 24) - TS AKX BT WHYDD 0T B 3R YA & IR < |

Students of a college
Y |EwT 40

Had peard 7d B
o)
S Ty e
FHAA5%
U21. ©E & Ud of fhy! 309 & I Tel & -
@) 5% (b) 8% (©) 10% (d) 6%
U.22. BHE B G S Had fhdbe 79 » IS ¢ -
(@) 35 (b) 40 (c) 42 (d) 41

U.23. Had fohde Fa9 3R Had Pedld Fad & T Bl HHRT: U § :
(@1:3 (b)2:1 (©1:2 (d)3:1
.24, BT B TSN G F€! b GG § -

(a) 500 (b) 650 (c) 550 (d) 600
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Q.25.

Q.26.

Q.27.

Q.28.

Q.29.

When a number is increased by 42, it becomes 121% of itself. What is the
number?

(a) 504 (b) 200 (c) 630 (d) 321

When a discount of 25% is given on a wedding gown, the profit is 32%. If the
discount is 17%, then the profit is.

(a) 46.08 percent (b) 49 percent (c) 51.92 percent  (d) 43.16 percent

A pipe can fill a tank in 15 minutes and another one in 10 minutes. A third pipe can
empty the tank in 5 minutes. The first two pipes are kept open for 4 minutes in the
beginning and then the third pipe is also opened. In what time will the tank be
emptied?

(a) 35 min (b) 20 min
(c) 15 min (d) Cannot be emptied

Two cars travel from city A to city B at a speed of 30 and 36 km/hrs respectively.
If one car takes 3 hours less than the other car for the journey, then the distance
between City A and City B is:

(a) 648 km (b) 810 km (c) 432 km (d) 540 km

If a cylinder of radius 4 cm and height 8 cm is melted and constructed into a cone
of the same radius, what will be the height of this cone?

(a)48 cm (b) 24 cm (c)8cm (d)12 cm

DIRECTIONS (Qs.30-34): What value should come in the place of question mark (?) in
the following questions?

Q.30.

Q.31.

3.6 +36.6 +3.66 +0.36 + 3.0 =?

(a) 44.22 (b) 77.22 (c) 74.22 (d) 47.22

(2+0.2+0.02+0.002)="7

(a) 2.002 (b) 2.022 (c) 2.006 (d) 2.222

Q.32. 16.046 + 2.8 x 0.599 = ? (please mark the approximate value from the options)

JSA-1

(a) 3.5 (b) 7.9 (c) 1.9 (d) 5.6
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9.25.

Y.26.

Y.27.

9.28.

9.29.

gawﬂwﬁﬂshshﬁﬁ%,aﬁg&m:ﬁmméws‘rwﬂ%l 98 IB=T /T
?

(a) 504 (b) 200 (c) 630 (d) 321

O U M & ST WR 25% B Fe dl St 8, @l a1 32% gial g1 afe ge 17% &),
1 Y o1 gRTT?

(a) 46.08 UfdRId  (b) 49 Ufa=Id (€ 51.92 Ufa=—d  (d) 43.16 Ufawrd
U® U2 15 e H U Tt 4R Tl § 3R gavT 10 e #| Rt urgy 5 fime o
P P Wel B Tbdl 5| UgS &l Ureul Bl L= H 4 e b Jierm S § SR R
Tt Uz T Y ft W1 ST § 1 bl Bl Wielt A | fhd=T v aim?

(a) 35 foFe (b 20 fie (c) 15 fiAe (d) Wrelt el fobar S gabdT
ST PR TSR A T ER B Tb HHTT: 30 foodl/wer 3R 36 fpHt/der ot fa I g wat
g1 Ifc TP HR gl HR ¥ 3 U HH IHT § I T il g, df MEX A 3R 6 B
& S DI g3 faba 82

(a) 648 et (b) 810 T (c) 432 fopit (d) 540 foH

TS 4 FNHeR BT 3R 8 YEHICR TS aTet Teb o ! fUrereresy It F3ea1 & T
& =0 § g foran ST &, O 39 M &1 SrdTs 1 g

(a) 48 THeR (b) 24 THIR (c) 8 TdHeR (d) 12 R

T @Y 30-34): Fufafad udi & vy I8 (7) R W 1 7714 3T =1 T?

9.30.

9.31.

¥.32.

JSA-1

3.6 +36.6 +3.66 + 036 + 3.0 =?
(a) 44.22 (b) 77.22 (c) 74.22 (d) 47.22

(2 +0.2+0.02+0.002) =7

(a) 2.002 (b) 2.022 (c) 2.006 d) 2.222
16.046 + 2.8 x 0.599 = ? (YT fawedl T J AT T fifgd ®Y)
(@) 3.5 (b) 7.9 (© 1.9 (d) 5.6
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Q.33.

Q.34.

Q.35.

Q.36.

Q.37.

Q.38.

Q.39.

JSA-1

V3136 - V1764 =7

(a) 14 (b) 966 (c) 256 (d)196

46 — 3/4 of 32 -6/ 37— 3/4 of (34 -6) =7

(a)1 (b) 19/64 (c) 19/16 (d)2

A man gets a discount of 30% and then 20% on his food bill. How much single
discount does he get?

(a) 40% (b) 44% (c) 35% (d) 50%

A certain sum amounts to Rs. 29282 in 4 years at 10% per annum, when the
interest is compounded annually. What is the simple interest in Rs. on the same
sum for the same time at the same rate?

(a) 7600 (b) 7900 (c) 8000 (d) 8100

Renu has Rs 260 with her, in denominations of 5-rupee notes, 10-rupee notes and
50-rupee notes. If she has each type of note in equal quantities, then how many
ten-rupee notes she has?

(a) 4 (b) 12 (c) 40 (d) 8

Three buckets contain 496 litres, 403 litres, and 713 litres of water respectively.
What biggest size mug can measure water from all the different buckets exactly?
(a) 1 litre (b) 7 (c) 31 litres (d) 41 litres

Speed of a car on smooth road and rough road is 70 km/h and 50 km/h
respectively. If the ratio of length of rough road to smooth road is 5:7 and total time

of journey is 5 hours, what is the length of the smooth road?

(a) 165 km (b) 175 km (c) 135 km (d) 185 km
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Y.33.

Y.34.

9.35.

9.36.

9.37.

9.38.

¥.39.

JSA-1

V3136 - V1764 = \?

(a)14 (b) 966 (c) 256 (d)196
46 -3/4 of 32 -6/37-3/40f 34-6) =?

(@) 1 (b) 19/64 (c) 19/16 (d) 2

UH Hfad DI 30 HISH f9d IR Ugd 30% 3R R 20% &1 ge e 81 39 $d
fireeR et ge e 82

(a) 40% (b) 44% (€) 35% (d) 50%

ue AfEd iR 4 auf 7 10% a1ftfes =191 g% WR 29282 FUT 1 Sl &, STd ST I
gﬂ;”mm% I IR R T IO 3R FAM &R W JIYRU TS (Rs. H) fbdAn
?

(a) 7600 (b) 7900 (c) 8000 (d) 8100

U] & U 260 ¥UT §, Sl 5 $UY & HIet, 10 BT & el 3R 50 ST & el | fauora

zg?mwmuw%ﬁﬁﬁwm%ﬁme1om$
?

(a) 4 (b) 12 () 40 (d) 8

& arfecal & HHRT: 496 TR, 403 ©ieR 3R 713 e ur 8 1 gt rer- 3rarT nfeeal
J Ut B Sp-31h AT F o T 98 3MPR & HI T MHR T 81 Jobell 87

(@) 1dIex (b) 7 &R () 31 diex (d) 41 ®IeR
TH HR B T K- G8& W 70 fHel/eer iR Wrad Ied W 50 frdi/der g1 afe
G| TSP D! ddTs 3R D TSP B! a8 BT U 5:7 § 3R I 61 Hd THg
5 °e 8, ot el TS P TaTs fbait &7

(a) 165 fpHT (b) 175 foot (c) 135 fooet (d) 185 for et
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Q.40.

The length and breadth of a rectangle is increased by 10 percent and 25 percent
respectively. What is the percentage increase in the area of the new rectangle?

(a) 40 percent (b) 15.5 percent (c) 25 percent (d) 37.5 percent

Q.41. What is the value of 10! (10 factorial)?

Q.42.

Q.43.

Q.44.

Q.45.

Q.46.

JSA-1

(a) 55 (b) 100 (c) 3628800 (d) 1000000

One liter of milk contains 250 grams of cream and one kg of cream yields 800
grams of butter. litres of milk will be required to produce 1 kg of butter.

(a) 4 (b) 40 (c) 50 (d)5

You are driving car at the average speed of 55 kph when you are passed by
another car at average speed of 85 kph. How long will it take for the other car that
passed you to be one Kilometer ahead of you?

(a) 2 seconds (b) 2 hours

(c) 2 minutes (d) It will never be one Kilometer ahead

In AABC, 2A + £B =65°, 2B + 2C = 140°, then find £B.

(a) 40° (b) 25° (c) 35° (d) 20°

Rani can row downstream 20km in 2 hours, and upstream 4km in 2 hours. What

will be the speed of rowing in still water?

(a) 6km/hr (b) 5km/hr (c) 4.5km/hr (d) 7km/hr

A student was asked to divide a number by 6 and add 12 to the quotient. He,
however, first added 12 to the number and then divided it by 6, getting 112 as the

answer. The correct answer should have been

(a) 143 (b) 138 (c) 122 (d) 136
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Y.40.

Y.41.

YH.42.

U.43.

Y.44.

Y.45.

Y.46.

JSA-1

TS 3T P daTs 3R ASTS Bl HH: 10 UAd 3R 25 ufawrd s¢1 fear mn g1 7w
3Td & &A% d | Ufa=id gfg feat grm?

(a) 40 Ufawrd (b) 15.5 Ufd=rd (c) 25 Ufa=Id (d) 37.5 Ufderd
10! (10 Trae 1T BT A T 2
(a) 55 (b) 100 (c) 3628800 (d) 1000000

TS Tex g8 T 250 W [ATS BT 8 3R 1 fHaiumd #ems & 800 UTH HeRa I gidT
g1 1 fhaum Aeed s & fou _ diex gy &1 sa=addl gift|

(a) 4 (b) 40 (c) 50 (d) 5

319 3O HR B Hd 71 55 fHH/der IR I % &, aH! GO SR TS 3 d
T 85 fpeil/eieT ¥ UR &R Il 8| GURl BR DI 9% F T fhamiex 3 o &
fobaT 99y @R

(@) 2¥dbs  (b)2Hc
(0 2fFF e (d) T8 Bt Hi T fbeiiHieR ol =gt i urweht

3BT AABCH, ZA + 2B = 65°, 2B + 2C = 140°, dl 2B JTd x|
(a) 40° (b) 25° (c) 35° (d) 20°

I ST | 20 foret 2 9 H 3R o # 4 foprt 2 98 H UR S Adhell 1 RR
o § P! A9 IAH B I -t gHi?

(a) 6 Tl /geT (b) 5 foreil/der (c) 4.5 fopdii/der  (d) 7 fobsl/mieT

T B ¥ BT 7T U7 fo 98 U T &l 6 F HITT ¢ 3R U H 12 S5 | afeed
I U T H 12 Shs foram ik fhe 39 6 § Hm faan, S uRumasy 112
UTC §3HT| el SR o1 gI-1 AfgY T2

(a) 143 (b) 138 (c) 122 (d) 136
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Q.47.

Q.48.

Q.49.

Q.50.

JSA-1

Please look at the following series. Choose the correct option to replace the ?
mark.

8 9 13 22 ? 63

(a) 31 (b) 41 (c) 36 (d) 38

Among the following statements, the statement which is not correct is:

a) Every natural number is an integer.

b) Every natural number is a real number.
c) Every real number is a rational number.
d) Every integer is a rational number

January 5, 1991, was a Saturday, what day of the week was on March 3, 19927

(a) Saturday (b) Tuesday (c) Sunday (d) Monday

Direction: In the question below are given three statements followed by three
conclusions numbered |, Il and Ill. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.

Statements:

Some chairs are tables.
All tables are wood.

No wood is plastic.
Conclusions:

. Some wood are chair.
[I. No table is plastic.

[ll. Some wood is plastic.

(a) Only (I) follow (b) Only (II) follow
(c) Only (I) and (Il) follow (d) Only (1) and (111) follow
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U.A47.

Y.48.

Y.49.

9.50.

JSA-1

mﬁmﬁmﬁé@m%ﬁa(vﬁwwwﬁwgﬁl
9 13 22 2 63

(a) 31 (b) 41 (c) 36 (d) 38

fRofafed 7 @ &1 91 $yU= It 781 82

(a) TS Ui AT U YUlTeh gicil g |

(b) TS Ui T Th dRdiad & gt gl
(c) U0 aRAfdd TBAT Ueh URAY BT gl © |
(d) U QUiics Tep TR = et B |

5 SR, 1991 YRER YT, Y 3 AT, 1992 &1 T8 &1 DI AT faT Ur?
(a) TFAR (b) AR (c) Aaar (d) GHAR

e R fou e Uy & dF agqe fiu e 8, e are dF e |, 11 3R 111 faw e
213U faT U goqal &1 I HHAT 8, 4 &1 d I U I [ 9 I fire |
g et 1 ue iR fisr 1 Aoty o {3 fou v goaat § o a1 sy difhe =u
T 3FIERUT ST &, TR 0 ¥ 1A T ! TolR 3G HRd U

dddoy:

1. $6 HRAI cad gl

2. gt c9d dBSI B

3. i vl dh sl wies Tl B

ﬁrwsf:
. PO AhS! B gl
I, ﬁélﬁé@ﬁlﬂﬁiﬁﬁ%l

Il. TS APhe! WD & |

(a) Had (1) TR BT § (b) I (Il) TRV HRAT &

(c) BT (I) 3R (II) STIRTT H & (d) BT (Il) MR (111) ST Hd &
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Q.51. A child went 90 m in the East to look for his father, then he turned right and went
20 m. After this he turned right and after going 30 m he reached to his uncle's
house. His father was not there. From there he went 100 m to his north and met
his father. How far did he meet his father from the starting point?

(@) 80 m (b) 100 m (c)140m (d)260 m
Direction: (Questions 52, 53, 54) Study the following information carefully and answer
the questions given below:
Among five rods, P, Q, R, S and T, the weight of T is 20 kg. The weight of S is
half the weight of P. The weight of Q is one-fourth the weight of P. R's weight
is twice the weight of Q. The weight of P is twice the weight of T.
Q.52. Which rod is the heaviest of all?

(@) P (b) S (c) Q (d)R

Q53. What is the weight of rod S in kg?

(a) 40 kg (b) 10 kg (c) 20 kg (d) 50 kg

Q.54. Which rod is the lightest among all?
(a)P (b) S (c)Q (dR

Direction: (Questions 55,56,57) The questions are based on the information given below.
Read it carefully, and find out the correct answer from the four alternatives.

There are five persons P, Q, R, S and T. One is football player, one is chess player, and
one is hockey player. P and S are unmarried ladies and do not participate in any game.
None of the ladies plays chess or football. There is a married couple in which T is the
husband. Q is the brother of R and is neither a chess player nor a hockey player.

Q.55. The three ladies are:

@P, QR (b)Q, R, S (c)P,Q, S d)P,R,S

Q.56. Who is the chess player?

@T (b) S ()P (d)Q
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U51. Uh aodl mmﬁgﬁ$mqﬁmﬂﬁ901ﬂaw fthx 98 QT gehx 20 HieR
3R AT SqF 1 39 TR a1¢ S&R 30 Hiex Ia- & §1G 30 9Tl & W UgdT|
I81 39 fuar 781 3| fix a8l ¥ a8 100 Hiex IR fa=m J mar &R 3o U 9 fiyer|
39 U fUrar 9 uRfye foig 9 fea-t gt )R gefidra 12

(a) 80 Hie? (b) 100 Hiex (c) 140 HIeX (d) 260 Hiex
w52, 53, 54) T STHHRY B &= Qe 3R i AT 7T usli &1 W &

U BSI, P, Q R, S AR TH W, T BT IoH 20 A 81 S BT IoH P & I &I A 51 Q
1 ol P & do &1 U YIS &1 R BT ao Q & Go- BT QAT & P BT ao T & goi &l

AT
752, IH A Y a8 4R TS i At g2

(a) P (b) S (©) Q (d)R
U53. ©S S P go fparmd | fbar 82
(a) 40 Traum™ (b) 10 frarm™ (c) 20 fHarImH (d) 50 frarmmH

54, IH A Y T gop! ISl HIF Il 82
(@) P (b)S (©Q (d)R

3w (U 55, 56, 57) UY = & T8 SHGRT IR 3NUTRT 31 39 &9 I U 3R IR fApeul #
Y I IR |

Gl iR P, Q R, S 3R T &1 370 A T Besia [ars! 8, U Tavel [ers! 8, 3k T
W@w%lpﬁ?s&mﬁﬂ%ﬂm%eﬁvwm@aﬁwﬁ@?ﬁlﬁ%lﬁm
Pedld el Ward! | T faarfed oirel § s TUfd g1 Q, R & TS & SR 7 af [kl

W%Gﬁ??ﬁ%ﬁ@ﬂ@l
U.55. o Afgd &

@P QR (b) QRS QP QS (d)P,R S
U.56. d¥S RAATS! B 87

(@T (b)S (P d)Q
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Q.57.

Q.58.

Q.59.

Q60.

Who is the wife of T?

(@) P (b) Q (R (d)S

What is the minimum number of colour pencils required to fill the spaces in the
below figure with no two adjacent spaces have the same colour?

(a) 3 (b) 4 (c)5 (d) 6

Xand Y are brothers. R is the father of Y. S is the brother of T and maternal uncle
of X. What is T to R?

(a) Mother (b) Wife (c) Sister (d) Brother

A group of friends are sitting in an arrangement one each at the corner of an
octagon. All are facing the centre. Manu is sitting diagonally opposite Rony, who
is on Sony's right. Robin is next to Sony and opposite Gopal, who is on Charu's

left. Sally is not on Manu's right but opposite Gopi. Who is on Gopi's right?

(a) Robin (b) Manu (c) Gopal (d) Rony

Q.61. Find the missing number from the options given below

JSA-1

(a) 343 (b) 512 (c) 729 (d) 1000
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Y.57.

9.58.

9.59.

9.60.

9.61.

JSA-1

T &) Uell B 82

(@ P (b) Q (R (d) S

2 & 71 anopfa # fead = B 4R & e gad fram T Ut @t sirazgdan
BT, Siafes @I Ht 3 3MTe VI T 81 {1 & Tal giF A1MeT?

(a) 3 (b) 4 (@5 (d) 6

XARYHSEIR YR TUATRIS, T HTHIS 3R X BTAAI G| T HT R I T Y 82

(a) HIT (b) Tet (c) §&d (d) UTS

Gl BT TP TG T HPYS & JAD DI R TH-UH HIh 96 ¢ | TH &1 09 $x
1 3R B 7Y, I & fooipe amm (fRe) 331 R, S A1 & o ok 81 e It &
T H § SR U & FHH g, S aRs & a5 3R ¢ | I, A & &T% 3R Tai § At
T & ITH 81 T & G5 3R I §ol 82

(a) fa (b) I GRILIS| (d) =T
+ia fau e fawed! & 9 g A1 91d Fifo|
(@) 343 (b) 512 (c) 729 (d) 1000
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Q.62.

Q.63.

What should be the number in place of ? in the following series?

6, 13, 28, 59, ?

(@) 111 (b) 113 (c) 114 (d) 122

In a row of 21 girls, when Mona was shifted by four places towards the right, she
became 12t from the left end. What was her earlier position from the right end of

the row?

(2) 9" (b) 10" () 11 (d) 14"

Direction: In the following questions 64 & 65 you are given a combination of
letters/numbers followed by four alternatives (a), (b), (c) and (d). Choose the alternative
which closely resembles the water image of the given combination.

Q.64.

Q.65.

P1PA2PU

(a) BIBA2bMN (b) BIbVJ3b(

(c) BIBVSbN (d) BIBASHBN
COMMISSION ‘

(a) NOISSINWOD (b) CoMMI22I0M

(¢) CONNI2I0M (d) NOISSINWOD

Directions (Q.66 and Q.67): Out of the four alternatives (a, b, c, d), please choose the
correct alternative which completes the picture.

Q.66.

JSA-1

frny
i/

~

(@ (b)

(© (d)

AT A\
M [\
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U.62. TRfIRed e & ? & R R SF 9 G- g ANeT?
6,13, 28,59, ?
(@) 111 (b) 113 (c) 114 (d) 122

U.63. 21 dsfhdl &1 U Ufad |, STd AHT $I Gl 3R IR RIFI IR RyHEiaRd favar ma, d
FETUBRY 12 F B TS| UfeT b i BR A 3! Ugd ! fRufa am e

(a) 9df (b) 109t (c) 119t (d) 144t

fETr: Uy T/ 64 3R 65 H MUD! 3HeR)/TABN3N BT T JAIoH faam T §, I9& 9l IR
E%W(a), (b), () 3R (d) lew 7 &1 few U T & 5ia ufafds & IHM fapey &1 a4
|

U.64.
P1PA2PU
(a) BIbAZbMN (b) BIbV3bMN
(c) bIbV3bN (d) BIBASBHN
U.65. COMMISSION ‘
(@) NOISSININOD (b) COMMI22I0/

(¢) COWNIZ2I0N (d) NOISSINWOD

=T @19 66 3R 67): faT T TR fawedt (a, b, ¢, d) W W, FUT a8 T e g o fod
R FRAT &

Y.66.
g
N -
(@) // (b) J/|
© y (d) y
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Q.67.

(a) (b) (c) (d)

Q.68. In arow of letters, a letter is 5" from left end and 12" from the right end. How many
letters are there in the row?

(a) 15 (b) 16 (c) 17 (d) 18

Direction (Q.69 and Q.70): Read the given statement(s) and conclusions carefully and
select which of the conclusions logically follow(s) from the statement(s).

Q.69. Statement: The popularity of artificial intelligence has risen exponentially due to its
applications across various industries. However, the rapid pace of development has
raised concerns about the displacement of jobs, as Al systems are capable of performing
tasks traditionally handled by humans.

Conclusions:

(i) The widespread use of Al will result in the loss of jobs in many sectors.
(i) The rapid development of Al technology raises significant concerns about its impact
on the workforce.

Only conclusion (i) follows

Only conclusion (ii) follows

Both conclusions (i) and (ii) follow
Neither conclusion (i) nor (ii) follows
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Y.67.

(a) (b) (c) (d)
.68, a{gﬁﬁwﬁ@rﬁ,wa{maﬁ@ﬁ@r 597 3R gT8 SR ¥ 1247 ¢ | fad A fbam 31eR
?

(@ 15 (b) 16 (c) 17 (d) 18

A= @9 69 3R 70): AT MU HYAEN IR FAewsf P e ¥ U 3R T fb o1 ar sy
difches &0 F HYAET) BT SR Rl |

U.69. HYUT: ST ST b e g fafirst Iemm & b U & HRUT doll 9 Jg]
g1 gTdifep, faem &t dig Tfd 3 TRl & =T & R H [ian g1 <t €, TS
T3S ey URUR® U I T gRT IHIA ST aTal Bl ! b H Fed |

frspd: () TarE & TS IUANT & URUIRGEY &g &1 § 1t BT JHH gHT|
(i) T3Ts Ut & oot T e ¥ Hrfad R 39% UHIT B dbr THR
fefamy et et &1

(a) Pad FSHY () TRV BT §

(b) HIA B (ji) STIRT BT §

() GIFI FIsam (i) iR (i) SFIERUI R &

(d) T @ B (i) 3R T &Y (i) SFIERU Hxal §
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Q.70. Statement: While the consumption of processed foods has significantly increased
over the past few decades, the rates of chronic health conditions such as obesity,
diabetes, and cardiovascular diseases have also risen substantially. Public health experts

have linked these trends to poor dietary habits, particularly high sugar and fat content in
processed foods.

Conclusions:

(i) The rise in chronic health conditions is directly linked to the increased consumption of
Processed foods.

(i) The consumption of processed foods is the leading cause of chronic health
conditions in modern societies.

(a) Only conclusion (i) follows

(b) Only conclusion (ii) follows

(c) Both conclusions (i) and (ii) follow
(d) Neither conclusion (i) nor (ii) follows

Q.71. Which of the given answer figures should replace the question mark (?) to have
the same relationship with the third figure?

SRR ?

Answer Figures:

(a) (b) () (d)

Q.72. Two positions of dice are shown below. How many points will appear on the
opposite to the face containing 5 points?

(@ 3 (b) 4 (c) 2 (d)6
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7.70. HY: IS $S a=1p! H UG d QI UGl &1 U | BI! gfs s o, 1 &1 Hierl,
AYAT 3R g&d AT il )T Wy fufat &1 =i 7 off H1ot gis 68 & | e
Ty fIReRi A 37 T Y /RIS WH-UH B1 3ireal, faRives T d Wre yardf
I A SR g B AT A SST

frepd: (i) R TR Rufaal 8 gis e vk d W verdf &t dgdl 9ud 3 98 5
(ii) aﬂgﬁa?%n@ﬁgﬂ:ﬁwwaﬂmwmmwﬁ
DI WUAT|

(a) ad FSHY (i) SFTIRUT Bl &

(b) I R (i) SO BRATT

(c) T TSR (i) SR (ii) SFTERI Hd &

(d) T ot e (i) SR A ET (ii) SFIARUT Bl §

¥.71. QU U IR pfadi & @ HF it e fa we fag (2) &1 uferifid &A1 @i anfe
ARRY 3HTpTd o 1Y T oo gl

SRR ?

Answer Figures:

(a) (b) (©) (d)

U.72. Q1 U} &) &) FRufaar Fi= fawrs M2 B 1 5 sichl a1al ot & faudid faran siep faars &

(a) 3 (b) 4 (c)2 (d) 6
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Q.73.

Q.74.

Q.75.

Q.76.

Q.77.

JSA-1

A piece of paper is folded and cut as shown in the question figures (A, B, C). From
the given answer figures (a, b, ¢, d) choose the figure that shows how the opened

paper will look.
e/ R
3 I//\/

A B C

Answer figures

(a) o0 (b) oO oo

(© |o ’ of (d) -
If + means +, — means x, x mean +, + means —, then 90 + 18 -6 x 30 + 4 =7
(a) 64 (b) 65 (c) 56 (d) 48

If it is Thursday after four days then what day was it four days before yesterday?

(a) Monday (b) Tuesday (c) Wednesday (d) Friday

Direction: Count the number of triangles in the given figure.

(a) 22 (b) 23 (c) 19 (d) 20
Ram saw a movie on Monday. Shyam saw the movie two days prior to Gita but
three days after Ram. On which day did Gita see the movie?

(a) Saturday (b) Sunday (c) Monday (d) Tuesday
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Y.73.

Y.74.

Y.75.

Y.76.

Y.77.

JSA-1

BT & Uh ¢hs DI UY MBI (A, B, ) H G IR AIGT 3R HeT o 7
faQ 7T IR AMHIATT (a, b, ¢, d) B T IF 3BT BT I99 HX S ST § fob Traw g
BT H @S S|

REE 1\O 0 /i
’ N\

1) 1

a .v

1 |

1 |

' 1

— =~ T Pl I |

A B C

(a) % ) |° %

@ o @]
o

g + BT - @, - BTN x B, xBTS + 3, - BTHL -8, 90 + 18-6 x 30 = 4
=?

(a) 64 (b) 65 () 56 (d) 48

gfe IR &l 91¢ [PaR &, O $d ¥ IR 37 uga & a1 fa= ur?

(a) IHIR (b) HITAAR (c) IYAR (d) FHaAR

foder, & 1 snepfa & HryS & I=m N

(a) 22 (b) 23 (©) 19 (d) 20

M 7 YR &) T fred ot | T A 1ftar T 5 foF ugd e <), afsavm @

& fem a1 <t Tiar 3 fiben foeg o <de
(a) TFAR (b) IAAR (c) AR (d) AR
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Q.78. If in a certain language "NOTEBOOK" is coded as "OQWIAMLG", how is
"CRICBUZZ" coded in that code?

(a) LGASDTWV (b) ASWVDTLG (c) WVDTLGAS (d) DTLGASWV
Q.79. Select the set in which the numbers are related in the same way as are the

numbers of the following set.

(94, 44, 82)

(a) (64, 58, 42) (b) (98, 68, 86) (c) (78, 40, 88) (d) (48, 31, 76)

Q.80. The following diagram shows 10 match-sticks forming three squares. What is the
minimum number of matches that must be removed to make two squares?

(a)3 (b) 2 (c) 1 (d)4

Q.81. In the following question, select the odd letters from the given alternatives.
(a) DH (b) JN (c) MP (d)TX

Q.82. A functional clock shows 10 am. How many degrees will its hour hand rotate to
show 6 pm the same day?

(a) 1200 (b) 2400 (c) 360° (d) 550°
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Y.78.

Y.79.

9.80.

.81.

9.82.

JSA-1

e fodt oIy YT & "NOTEBOOK" &l "OQWIAMLG" & &U H Hedg (hlos) fad
a7 ®, Al "CRICBUZZ" &1 39 I8 H $H forar siawm?

(a) LGASDTWV (b)) ASWVDTLG () WVDTLGAS  (d) DTLGASWV

I G BT TG B foraH FBATE I TbR F Weifdd § oy Fafiiad ag &
FBATU|

(94, 44, 82)

(a) (64, 58, 42) (b) (98,68, 86)  (c) (78, 40, 88) (d) (48, 31, 76)

fofead fomr & 10 wife &1 diferat i v o1 FAmfor el §1 & avf a9 & forg
A et Hifere ot diferal &l g g

(@) 3 (b) 2 (@1 (d) 4

fAufaRad vy §, fau U fowmedl & O fowe sfeRi (3Td 31eRY) T I & |

(a) DH (b) JN (c) MP (d) TX

T fohareiiel U<l gag 10 o feardht g1 I foT o 6 oot fewm & forg 3ot &
o1 g8 fhan feht g

(a) 120° (b) 240° (c) 360° (d) 550°
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Q.83. Direction: Read the given statement(s) and conclusions carefully and select which
of the conclusions logically follow(s) from the statement(s).

Statements:

Some roses are thorns.
All thorns are flowers.
No flower is a petal.

Conclusion:

l. No petal is rose.
. Some flowers are roses.

(a) Only conclusion | follows.
(b) Only conclusion |l follows.
(c) Neither conclusion | nor conclusion Il follows.
(d) Both conclusions | and Il follow.
Q.84. Please choose the odd number pair.
(a) 24 : 47 (b) 16 : 31 (c)28: 55 (d)32:65

Q.85. Four positions of dice are shown below. What number will appear on the opposite
to the face containing the number 3?

(@ 3 (b) 4 (c) 2 (d) 6

Q.86. In the following list of letters how many O’s are followed by Q’s but not preceded
by D’s?
DOQODQODODQDOQDSDQPOQDSSSDOQOQDOQDDDOAQ

(@) 0 (b) 1 (c) 2 d) 3
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u.83. A3 AU MU SRy iR el ol eargde g 3R I fb fau U sym (@)
A BI-91/8 ey ThITd TU F STIR0T BT/ B

DY:

$S TAE Fic ¢ |
I Fie A gl
P1s Hi ot TGt el B

frspy:

. B i T Iefre e B |

. T8 B a9 5 |

(a) ad fFHY | SRV HAT 5|

(b) Fad FSHY | SR BT 7 |

(o) T a1 freep | 3R 7 8 Feandd || FRAT G|
(d) G FThY | 3R 11 3FIERUT ARdl G

U.84. U favy e g g |
(a) 24:47 (b) 16:31 (c) 28:55 (d) 32:65

785, ra Ul @t IR fRufaal faars 72 8 | 9 3 9Tl A & faudid s 9 O fiewrs

i

(@ 3 (b) 4 (@ 2 (d) 6

11.86. FafeRad si&Rl &t gt 7, fava- 0 T & e a1¢ Q 8 dfds 3% Ugdd D el o7

DOQODQODODQDOQDSDQPOQDSSSDOQOQDOQDDDOQ

(@ 0 (b) 1 () 2 d) 3
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Q.87. If A stands for ‘+’, M stands for ’x’, D stands for ‘+’, G stands for *>’, L stands for
‘<’, then which of the following will be logically correct?

(@) 4A5D3G6A2M3 (b)4A5M4L6D2AS

(c) 4AD2A4G6D2A4 (d)4A3M2L4D2M6

Q.88. Arrange the words in alphabetical order:

(A) bright
(B) brisk
(C) brief
(D) bridge

(D)(C)(A)(B
(D)(C)(B)(A
(B)A)D)(C
(B)D)A)C

a
b
Cc
d

S N N N
N N e’

Q.89. If the first half of the word RESTAURANT is reversed, which of the following will
be the second to the right of the seventh letter from the left end?

(@) A (b) N (R dT

Q.90. Select the correct mirror image of the given combination when the the mirror is
placed at MN as shown.

M
rym468

N
@ gebmAis (b) 8wy
() 89hmy1(d g9bmAi

JSA-1 Page 34 of 39 C



ug7. GRABTIIS +, MBT3S %, DBT 3RS '+, GBI 3Rf > SR L BT 3Rf < B, N

fufeRad & T o9 I1 aifdbe =u 3 It gIm?
@ 4A5D3G6A2M3 ()4A5M4L6D2A8
() AD2A4G6D2A4 (d)4A3M2L4D2M6

U.88. ecl &l JUIHTAT pH & TR P
(A) bright
(B) brisk
(C) brief
(D) bridge
(a) (D)(O)(A)(B)
(b)  (D)YO)(B)A)

@  BADO)
d  BD)ANO

U.89. IS W RESTAURANT & Ugd 3118 o 1 Idie faar 9e, df 914 BR T gidd 31eR
& 2TE 3R T M W B T 3feR g

(a) A (b) N (@R @T

¥.90. UL GO 3t gl gUUl Bfd g+ 9d U HI RIFTIR MN TR 331 T 51
M
rym468E

N
@ gebmAi (b) 83pwyn
() 83hmy1(d g9bmAi
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Q.91

Q.92.

Q.983.

Q.94.

Q.95.

Q.96.

Q.97.

JSA-1

Choose the correct alternative from the given ones that will complete the series.
1,8,7,14, 15, 21, 25,7

(a) 28 (b) 32 (c) 30 (d) 29

In the following number series what should come in place of the question mark'?'
3, 7,7?,27,-37,63

(a) 8 (b) =11 (c) -9 (d) 18

Raman runs faster than Mohan, but not as fast, as Kareem. Kareem runs faster
than Suman, but Not as fast as Abhinav. Who runs fastest?

(a) Raman b) Mohan and Kareem (c) Abhinav (d) Suman

Arrange these letters of each group to make a meaningful word and then find the
odd one out.

(a) GHIET (b) VEENS (c) VIDEID (d) ORFU

Looking in a mirror shows that the time is 1:30 in an analog clock (with hands),
then what is the correct time?

10 o'clock 30 minutes
6 o'clock 30 minutes
6 o'clock 10 minutes

a
b
c
d) 4 o'clock 30 minutes

(
(
(
(

N— N e N

The sum of the ages of Sachin and his father is 46 years. Three years back, his
father's age was 4 times of Sachin's age. Find the present age of Sachin?

(a) 11 (b) 8 (c) 15 (d)12

In the following question, select the word which cannot be formed using the letters
of the given word.

MISAPPREHENSION

(a) RESPONSE  (b) HAPPINESS  (c) PERSON (d) SENSES
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9.91.

¥.92.

9.93.

Y.94.

9.95.

9.96.

9.97.

JSA-1

& T pedl & T TE famed T S fRae B R Hm|
1,8,7, 14,15, 21, 25,2

(a) 28 (b) 32 (c) 30 (d) 29

fafefaa e e |, uy I8 2* & I IR 1 ST A1 e?
3, 7,7,27,-37,63

(a) 8 (b) =11 (c) -9 (d) 18

I A8 § ISl SISl 8, Al Hiid fId=1 aot T8l | 38 o T I Slsd1 8, Afee
31fra foramT At et TR O P arsdl 82

(a) 9 (b) A8 3R HIH (c) YT (d) gAT

?gﬂﬂg@%a{aﬁﬁmﬁmmw 31U Rrsg F1Y SR R 378 & S ST
, |

(a) GHIET (b) VEENS (c) VIDEID (d) ORFU

Wgﬁﬂwﬁ&@%mwﬁu’a@@sﬁfaﬁﬁ)ﬁw1:30@@1‘5‘%%’,&?&@
1 ENT?

(a) 10 IoTHR 30 fAAe
(b) 6 SoIHR 30 fiFe
(c) 6 dod 10 fie
(d) 4 S5 30 fiFe

T 3R TP fUdT o1 3T HT AN 46 I8 g | T a8 Ugd, I Ul B S |fed
B 3G BT 4 1 | WA 3 g0 g 7T 82

(@ 11 (b) 8 (c) 15 (d) 12

fFaffad Uy A, 39 e &1 I99 &3 O ST 7T Weg & 31&RT BT IUIART HXH ol
J-1T Sl b dT |
MISAPPREHENSION

(a) RESPONSE (b) HAPPINESS (c) PERSON (d) SENSES

Page 37 of 39 C



Q.98. If '+’ denotes ‘+, ‘%’ denotes ‘+’, - denotes ‘x’ and ‘+’ denotes ‘-’, then which of
the following is the value of the following expression?

36x27+9+3-2

(a) 33 (b) 23 (c) 43 (d) 34

Q99. If12#3 @2=38 and14 @ 2#3=20then 4#3 @ 1="7

(a) 15 (b) 11 (c) 13 (d) 16

Q.100. Choose the word which is different from others.

(a) Nephew (b) Cousin (c) Brother (d) Sister

3k 3k 3k 3k %k >k %k 3k %k %k k ok k
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798, afe '+ d1 3t = x dT ;S v, BT 3 xR 1+ T 3 e B, Y FRuferaa
3fHeTfad BT |17 T gRTI?
36 x27+9+3-2

(a) 33 (b) 23 (c) 43 (d) 34

U99. T 12#3@2=383M14@2#3=20TW4#3@1=2

(@) 15 (b) 11 () 13 (d) 16
¥.100. 31 Xea! & Y I8 g I+ off GERI A ST 5
(a) HlTeT (b) B (c) HTS (d) &4
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